
Max. Load
75 kg

LONG FOR FRONT

SHORT FOR REAR

FIRST TIME INSTALLATION
* REMOVE PARTS FROM INSIDE THE PACKAGE AND CHECK THEM ALL

* CONTACT YOUR DEALER IF ANY PART IS MISSING OR DAMAGED
* USE THE EQUIPMENT SPECIFIED FOR INSTALLATION

Z
IP

LO
C

K
 B

A
G

PACKAGE INCLUDED
4
1
1
4
4
4
4
4
4
4

1-
2-
3-
4-
5-
6-
7-
8-
9-
10-

ASSEMBLY INSTRUCTIONS (ROOF RACK)
Product Code: MC03002

M
C

03
00

2 
/ 

R
ev

.0
6 

/ 
09

.0
6.

20
23

 (E
C

E)

* Kullanım amacı; Aracın bagajı yeterl� olmadığı durumlarda araç tavanında yük ve eşya taşımak.
* Purpose of usage; Carry�ng cargo and goods on the veh�cle's roof when the veh�cle's trunk �s not suffic�ent.

C2
3002 PLASTIC PIECE
M6 SPEEDNUT 
M6x30 INBUS BOLT
D6 1/2 WASHER 
M6x45 INBUS BOLT
D6 WASHER

TURTLE AIR 3 PREM. CHASSIS
5 MM ALLEN KEY
CLOTH KEYCHAIN

M6 kl�ps� metal parçada bel�rt�len yere takınız.
Attach the M6 cl�p to the place �nd�cated on the metal part.

Plast�k parçayı üzer�ndek� ok
s�ze dönük olacak şek�lde
yuvaya yerleşt�r�n�z.
Place the plast�c p�ece
�n the socket w�th the arrow
on �t fac�ng you.

Conta ve metal parçayı bel�rt�ld�ğ�
şek�lde yerleşt�r�p aracınızla uyumlu
cıvatayı kullanarak sıkınız.

Place the rubber and metal part
as spec�f�ed and t�ghten us�ng bolt
that are compat�ble w�th your veh�cle.

M6x30 �nbus cıvata ve küçük pulu A�r3
Prem�um şas� üzer�nde �lg�l� yere yerleşt�r�n�z.
Place the M6x30 �nbus bolt and small
washer on the A�r3 Prem�um chass�s �n
the place spec�f�ed.

A�r3 Prem�um şas� k�tler�n�
prof�le takınız.
Attach A�r3 Prem�um chass�s
k�ts to the prof�le.

Turtle® ara atkıları araç
tavanına yerleşt�r�p metal
aparatlara sab�tley�n�z.
Place Turtle® roof racks
on the veh�cle roof and f�x
them to the metal apparatus.

Pul ve cıvata kullanarak
ara atkıları sab�tley�n�z.
Fasten roof racks
us�ng washers and bolts.

Prof�ller� ortaladıktan sonra
yatay sab�tleme cıvatalarını sıkınız.

After center�ng the prof�les,
t�ghten the hor�zontal f�x�ng bolts.

Araç tavanındak� kapakları çıkarınız.
Remove the covers on the veh�cle roof.

Montajda kullanılacak del�k
Hole to be used �n assembly

COMPATIBLE VEHICLES
FI PND (319) HATCHBACK 12-

REN SCNC (Mk2) MPV 03-09

7

8

1

9

106
4

5

2

3

www.canotomot�v.com.tr / turtlecancarry.com / canauto.store /canauto.ru
Vel�köy OSB 4. Cadde No:20/A Çerkezköy/TEKIRDAĞ
CAN OTOMOTİV İNŞ. İTH. İHR. SAN. VE TİC. LTD. ŞTİ.

+90 282 746 1320 �nfo@canotomot�v.com.tr

MAX 
       5NM

MAX 
       5NM

130 Km/h

80 Km/h

0

50 Mph

80 Mph

Km/h
Mph

w
it

h
lo

ad

w
it

ho
ut

lo
ad


